SN AT
Dol Arcwe
o9l DISAAE (S5 & 2)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
A5t 14,901,034 10,425,322 4,475,712
= 1,904,000
= 171,200
= 226,500
Al 12,599,334
L] 2,521,034 2,033,322 487,712
= 171,200
= 139,000
Al 2,210,834
Sa%sE 2,521,034 2,033,322 487,712
= 171,200
= 139,000
Al 2,210,834
ALEALSHR(2X) 231,000 100,000 131,000
= 139,000
Al 92,000
401 AlEHIL =20 231,000 100,000 131,000
= 139,000
Al 92,000
01 AZH] 231,000 100,000 131,000
Os0Z DI244E e 131,000
= 39,000
Al 92,000
OROXT &44+E H| 100,000
= 100,000
APD 2TAE HBAY(BF) 342,400 0 342,400
= 171,200
Al 171,200
401 AN&HLLHY 342,400 0 342,400
= 171,200
Al 171,200
01 A&H] 342,400 0 342,400
OSY 4+EHY 110,000
2 55,000
Al 55,000
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AN oot

M otk
&t St=XelAlE (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
= 1,904,000
& 87,500
Al 388,500
St=XelAld 2,380,000 1,378,000 1,002,000
= 1,904,000
= 87,500
Al 388,500
FELE3E3HE DT HIAME(EX) 1,130,000 0 1,130,000
= 904,000
Al 226,000
401 Al &BIZ20HYI 1,130,000 0 1,130,000
= 904,000
Al 226,000
01 A&l 1,108,643 0 1,108,643
OZxESXMeld DT H™HelAlE 1,108,643
= 886,915
Al 221,728
02 Zeltl 17,289 0 17,289
OZxa3Meld DT H™HelAlA 17,289
2 13,831
Al 3,458
03 AIZ=C0HHI 4,068 0 4,068
OZx33XeldE DT H™HelAE 4,068
= 3,254
Al 814
IIEER S3XHeAIE DEMH(EX) 1,250,000 0 1,250,000
= 1,000,000
& 87,500
Al 162,500
401 AUl =204 1,250,000 0 1,250,000
= 1,000,000
& 87,500
Al 162,500
01 Al&H| 1,230,425 0 1,230,425
O 33HAME nEHel 1,230,425
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M otk
&Rl of=XlAl& (el &)
. _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
= 984,340
== 86,130
Al 159,955
02 el 19,125 0 19,125
OJ=E2L 22RH2IAE DEHe 19,125
2 15,300
== 1,339
Al 2,486
03 AlZ=0Hd] 450 0 450
ON=sah SSH2Ad DEXel 450
= 360
= 31
Al 59
Hegs (Aot n) 10,000,000 7,014,000 2,986,000
LHEHHXIE 10,000,000 7,014,000 2,986,000
LA 2HXI & (XHA) 10,000,000 7,014,000 2,986,000
404 BIIGR2HES 10,000,000 7,014,000 2,986,000
01 SIIUSEIANNEHES 10,000,000 7,014,000 2,986,000
Oad=EZJIUEEH K& 2,850,000
Odt=EZIIHEE3H XA 7,150,000




